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The exemptions which can bring toward a nxun 21

OVERVIEW

The X713 explains the reason why the 71wn enumerates only four cases of
70K PR Mo (instead of eight [or twelve]), is because the mwn includes only
those o>wo that can come to a NXYA 21°1. According to *"wAd this refers to
the person who made the 77°pY, for it is possible that he can complete the
7X¥17 and make the 7n1n as well and would then be liable for a j27p.
However the one who made the 1117 cannot come to a nXv 21°1. Our NMYOIN
takes issue with *"w"5 and offers an alternate explanation of >7°% *nX7 *VD
nRYE 2.

— PNY 13529 NN 1PN DPYNP MPPYT Y7YY YUY NN

The >''2 does not agree with >''w2p that the 71w counts only the n1py -
— Y95 NNV 2PNT NIIT N2 PN XYY HIVHV RIN NN ININ K2 NYPYT NN

Firstly,' for an 77°py without a 78X is merely moving the item and
there is no association with nRwr 21’17 at all!

An additional difficulty with >"wA5:
— 2NN NN MNOYS /) 13N YyaY DYNP DIVIPN YWINATT NI

And furthermore according to °''w9’p the miwn counts three Mxx> and

one 1015 for the 2''nmya -
- sﬂhN ANSIN NI /) NIY

and three mo1o77 and one 8% for the ".*

" According to *"w7p that we are counting only the m°p¥, then one of the cases which the 71wn counts as
70K 22K Mo is where the 1y stuck his empty hand into the *"77 and the 2"7va put the item into the s"w
hand and the *1¥ removed the item into the 7"77. In this case, argues NN, the 2"7¥2 merely picked up an
item in the >"717 and placed it in the hand of the "1 which is also in the >"717. We cannot refer to this as a
DRV 277 77 SNRT MMLD!

* There is one 2117 7039 XX for the 2"7wa. The two 21w can only be MX*¥° since we are counting only
mpy. There is the case where the 2"7va brought something outside and the °1v took it for him, and the
other case where the 2"7v2 merely placed it in the *1¥77 7> in the >"77 (see footnote # 1); in both cases it is an
7Py related to nxx7. It adds up to three NR¥YT (one of 21°1 and two of 71wd) and only one 70157 (of 21°7).

? The case of the "1 is the reverse of the 2"7v3; see previous footnote. [See chart at end of n1vOIN.]

* The difficulty with this interpretation of the 7awn is, for it seems that ¥27X 7% D°3w means that just as
there are two cases of 2vn which are nAX¥¥M 70157, similarly there is an additional two cases of 75
consisting of AR¥1M 70127, According to *"wA, however, the two cases of M5 are either only 710127 (for the
°1v) or only xxY7 (for the 2"7v1). See 0772k 10 for a (possible) alternate explanation.
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moon adds one more difficulty with >"w7%5:
— NY92 N3N 2YYNTI NN PYYTI NN %PT 9I109T 'NIN 2PUN NIT T

And in addition the 71w»n does not mention the two 7o of the *1¥ and
the =°2¥ in one clause, as he mentioned the 2°2y1 of the °°wy and the "1v
in the X1 in one clause for the 2wy *1v individually.’

mooIn offers his interpretation:
— 1991 AIRVN 21N STPD SANT TUN 12 PNYY 139329 Y9

And the X''271 explains that the phrase 'nXwn 2197 979% "nx' refers to -
— ANININ IN NDIM 1T N VWIIY NN

The one who extends his hand and either brings in or takes out the item -
— 9109 NINY HIRLVAN 2»N RYIIHT NI NINNDT

Where its counterpart® in the first two clauses are nxun 2°n, but here in

the X5°0 the X*X11 07107 is WL -
— NN IN NPPY IN VYN NINM TOINY NAXRYNN Y YUY XYY 295

For he did not do the entire 71o8%%; he is lacking part of the 71ox%» either
the ;77°py or the 7.’

mdoIn finds support for X"2°7 ¥17°0:
— 2NN 1HIY MV RIN 1503010 NINN NI MNP 551951951 199N N>

And the X"2™ bought a proof (to his explanation) from the s»b21° 771°%n
which states, ‘the mw» does not include in its count only if it is a =W

which corresponds to a 21911.” This concludes the quote from the 517’ -
— NYT X223 AYYNRY 290 119 IMIN DY 9109 NON 22UN XD »91 DIVN)

And therefore he only counts the "2 which its counterpart in the X9
is 2% -

5 The first clause of the 73w» mentions the two 22271 of the °1v; both the 1101577 and X% in one clause. The
same applies to the second clause which mentions the ;77010m 1X¥17 of the 1"nya. The third clause (if we
follow "o that we are counting M7°PY only) mentions *1¥7 701377 77PY (saying 131 0°192 17 NX "1V VWD)
and the 2"7vy27 A8¥IT 7PV (by concluding X171 72107 101w X). The same is true for the fourth clause (in
reverse). The last two clauses intermingle the M17°py of the 2"7v21 *1w. It is not symmetrical with the Xw™.
[See chart at the end of this m»0In.] See ‘Thinking it over’ # 1.

% Those that are 0°3:1 X°¥¥ in the Xw>1 and are 27n.

7 According to X"21 w all three questions on "1 are resolved. In each case since he moved the item
mwaY mwan there is a nXvr 20 wwn (that the next time he may also do the missing 771°py (or 7n17). There
are two 01 one of 7101577 and one of 7XXY7 for the °1¥ and similarly for the 2"7¥2, so there are 70137 ARX
217 and 7WAT 7012M AXXIT for the 2"7y2) "1w. The third clause of the 7iwn deals exclusively with the 19
TR 72X of the "1, and the fourth clause deals exclusively with the 710K 22K 7109 of the 2"7va.

¥ X"7X"2. [In our 2,8 A7 *n9w17.] The text there reads: 21 7310 KITW MWD KK "IN J1NK K.
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— 2N 2PN NP D10 02 11 NN YN VY D
For instance it states in the X7 that the >1v is 297 if he stuck his hand
inside, and placed the item on the hand of the 2"72 -

1127 Hyah 19999999 D29 17 NN YN LY NOYDY N2 2PUN NY1T ANV
The corresponding =1® is mentioned in the X2°0 where the "1y stuck his
hand inside, (and the 2"7v2 took it from him) etc. and the same for the
2''77Y2 that the Mo is 2107 T2

SUMMARY

"9 maintains that NXvA 21°17 7°% SNKRT WD refer to the NMpY, while the
X"2°7 maintains that it refers to the one who transferred the item nwAa% mwn
(and is lacking either an 77°pPY or a fnin).

THINKING IT OVER

1. mooIn last question on "1 is that in the X5°0 he does not mention the two
"9 of the "1 (and also of the 2"7v3) in one clause as he did in the xw™.’
Seemingly we can answer that the mwn would be required to elaborate
greatly to mention the >wo of the "1¥ (or the 2"7v2) in one clause.
Conversely; by mingling the *1v»d of the "1v and the 2"7v2 in one clause, the
mwn 1s also mingling the *Mwo of AXXIM 70137 in one clause just as 70137
ANXIT appear in one clause in the xw."°

2. How do *"wn and the X"27 respectively explain the phrase *7°% °*nKX7 >0’
'nRLIT 2117

R''297 wn | '@ wD | awn
nwehw K22
737 992 %1vT 10107 *1V7 (7015717) APY | 9N N°AT Y2 D0 0°192 170 DX CIvn WD
T0PY 02 0T AR | 2"IvaT (RXIT) APy (v XXM 7907 (2"77v2) 1NIw R
ny°27 R22
7137992 2"vaT aR¥T | 2"nvaT (RXIT) APy 79307 21w 20 YIN? 170 IR 2"y WD
7Py 992 2"Y27 70107 W7 (7019777) "Ry (2"7v2) 0°19m 191N (1) NI IR

? See footnote # 5.
10 See A P ,[TRA] X"wn and DRNAK 1.
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